



Linear multistep methods for impulsive delay differential equations[☆]



X. Liu*, Y.M. Zeng

School of Mathematical Sciences, Liaocheng University, Liaocheng 252059, China

ARTICLE INFO

Keywords:

Impulsive delay differential equations
Linear multistep methods
Convergence
Stability

ABSTRACT

This paper deals with the convergence and stability of linear multistep methods for a class of linear impulsive delay differential equations. Numerical experiments show that the Simpson's Rule and two-step BDF method are of order $p = 0$ when applied to impulsive delay differential equations. An improved linear multistep numerical process is proposed. Convergence and stability conditions of the numerical solutions are given in the paper. Numerical experiments are given in the end to illustrate the conclusion.

© 2017 Elsevier Inc. All rights reserved.

1. Introduction

Impulsive differential equations are widely used in actual modeling such as in ecology [27], population dynamic ([21,23]), optimal control [22] and so on. The studies of impulsive differential equations initiated in [18,19]. Since then, many results on the stability of impulsive differential equations have been studied (see [1,4,5,10,13]). In [20], Ran proved explicit Euler method is stable for impulsive differential equations while implicit Euler method is not stable. The surprising conclusion have attracted many scientist's concern on numerical properties of impulsive differential equations. The stability of Runge–Kutta methods for impulsive differential equations have been studied in [6,12,15,26]. For more difficult case, differential equations with non-fixed times of impulses are studied in [2,8]. But there is few papers focus on multistep methods since we showed classical linear multistep methods maybe not convergent for impulsive differential equations in [16]. In this paper, we will construct a convergent numerical scheme of linear multistep methods for impulsive delay differential equations and study the numerical stability.

In this paper, we consider the following equation:

$$x'(t) = ax(t) + bx(t - \tau), \quad t > 0, \quad t \neq d\tau, \quad (1.1a)$$

$$\Delta x = rx, \quad t = d\tau, \quad d = 0, 1, 2, \dots, \quad (1.1b)$$

$$x(t) = \varphi(t), \quad -\tau \leq t < 0, \quad (1.1c)$$

[☆] This work is supported by National Natural Science Foundation of China under Grant(No. 11505090) and Shandong Provincial Natural Science Foundation (Nos. ZR2017BA026 and BS2015SF009)

* Corresponding author.

E-mail address: liuxing6213693@163.com (X. Liu).

where $a, b \in \mathbb{C}, r \neq -1$ and φ is a smooth function on $[-\tau, 0)$ with $\lim_{t \rightarrow 0^-} \varphi(t)$ exists. Here we define $x(0) = (1 + r) \lim_{t \rightarrow 0^-} \varphi(t)$.

Definition 1.1 (see [4]). $x(t)$ is said to be a solution of Eq. (1.1), if

1. $x(0) = (1 + r) \lim_{t \rightarrow 0^-} \varphi(t)$,
2. $x(t)$ is differentiable and $x'(t) = ax(t) + bx(t - \tau)$ for $t \in (0, +\infty), t \neq d, d \in N$,
3. $x(t)$ is left continuous in $(0, +\infty)$ and $x(d^+) = (1 + r)x(d), d \in N$.

2. Classical Linear multistep methods for impulsive delay differential equations

2.1. Linear multistep methods for ODEs

The standard form of classical linear multistep methods can be defined by

$$\sum_{i=0}^k \alpha_i x_{n+i-k} = h \sum_{i=0}^k \beta_i f_{n+i-k}, \tag{2.1}$$

where α_i and β_i are constants subject to the conditions

$$\alpha_k = 1, \quad |\alpha_0| + |\beta_0| \neq 0, \tag{2.2}$$

and $f_{n+i-k} = f(t_{n+i-k}, x_{n+i-k}), i = 0, 1, \dots, k$.

2.2. Linear multistep methods for impulsive delay differential equations

Let $h = \frac{\tau}{m}$ be a given stepsize with integer m . In this subsection, we consider the case when $m \geq k$. The application of the linear multistep methods (2.1) in case of Eq. (1.1) yields,

$$x_{-m, i} = \varphi((i - m)h), \quad i = 0, \dots, m, \tag{2.3a}$$

$$x_{0,0} = (1 + r)x_{-m,m}, \tag{2.3b}$$

$$x_{wm, l} = - \sum_{i=0}^{k-1} \frac{\alpha_i - ha\beta_i}{\alpha_k - ha\beta_k} x_{wm, l+i-k} + \sum_{i=0}^k \frac{hb\beta_i}{\alpha_k - ha\beta_k} x_{(w-1)m, l+i-k}, \quad w = 0, 1, \dots, l = k, \dots, m, \tag{2.3c}$$

$$x_{(w+1)m, 0} = (1 + r)x_{wm, m}, \tag{2.3d}$$

$$\begin{aligned} x_{(w+1)m, l} = & - \sum_{i=0}^{k-l-1} \frac{\alpha_i - ha\beta_i}{\alpha_k - ha\beta_k} x_{wm, m+l+i-k} - \sum_{i=k-l}^{k-1} \frac{\alpha_i - ha\beta_i}{\alpha_k - ha\beta_k} x_{(w+1)m, l+i-k} \\ & + \sum_{i=0}^{k-l-1} \frac{hb\beta_i}{\alpha_k - ha\beta_k} x_{(w-1)m, m+l+i-k} + \sum_{i=k-l}^k \frac{hb\beta_i}{\alpha_k - ha\beta_k} x_{wm, l+i-k}, \quad l = 1, \dots, k-1, \end{aligned} \tag{2.3e}$$

where $x_{wm, l}$ is an approximation of $x(t_{wm+l})$ and $x_{wm, m}$ denotes an approximation of $x((w + 1)^-)$. Here we assume that the other starting value besides x_0 , i.e., $x_{0,1}, \dots, x_{0,k-1}$, have been calculated by an one-step method.

Remark 2.1. As a special case, when $k = 1$ the corresponding consistent process (2.3) takes the form:

$$x_{-m, i} = \varphi((i - m)h), \quad i = 0, \dots, m, \tag{2.4a}$$

$$x_{0,0} = (1 + r)x_{-m,m}, \tag{2.4b}$$

$$\begin{aligned} x_{wm, l} = & \left(1 + \frac{ha}{1 - ha\beta_1} \right) x_{wm, l-1} + \frac{hb\beta_0}{1 - ha\beta_1} x_{(w-1)m, l-1} + \frac{hb\beta_1}{1 - ha\beta_1} x_{(w-1)m, l}, \\ & l = 1, \dots, m, \quad w = 0, 1, \dots, \end{aligned} \tag{2.4c}$$

$$x_{(w+1)m, 0} = (1 + r)x_{wm, m}, \tag{2.4d}$$

متن کامل مقاله

دریافت فوری ←

ISIArticles

مرجع مقالات تخصصی ایران

- ✓ امکان دانلود نسخه تمام متن مقالات انگلیسی
- ✓ امکان دانلود نسخه ترجمه شده مقالات
- ✓ پذیرش سفارش ترجمه تخصصی
- ✓ امکان جستجو در آرشیو جامعی از صدها موضوع و هزاران مقاله
- ✓ امکان دانلود رایگان ۲ صفحه اول هر مقاله
- ✓ امکان پرداخت اینترنتی با کلیه کارت های عضو شتاب
- ✓ دانلود فوری مقاله پس از پرداخت آنلاین
- ✓ پشتیبانی کامل خرید با بهره مندی از سیستم هوشمند رهگیری سفارشات